B BT, RTSRRT

- BRAIE WS R0 4S9 A2 Wi R Lippmann-Schwingels F2:

TE @4
Tt — o, dB—_—Ba"P
o +/ ﬂEa—Egiie
Horp: T3, = (05, VEE).
- RUE W TR ST i A
1 1

Ti *_T:t — T‘i
(Tos) Ba /dV( 5)" WO‘[E — E, +ic Eﬂny¢ie]

AR B S8 KA A% H I Lippmann-Schwingely £ 1iE B 8k 24 2 1] EI"JE”TC‘TEE(\I/?;, Ut =
(B — a).
) iﬁiEWS%EWﬁEVFiM?ﬁ%E‘JT;&E"J%%%:

Spa = 6(8 — a) — 2mid(Es — Eg)Tj,
BRI RS SOV 245 H 1) 9% FR AR I SHTRE 1) & 1E 1

/d’y S350 = (8 — )

7N
U 7' 7'0 = 1—2/ dt1V t1 i2/ dtl/ dtgv tl)V(tQ)
t to
/ dtl/ dtg/ dtg tl t2 (t3)+
T H
U(r,7) =T e RtV ®
R SHLEE TG I AR e 16 e I 2
Vi Vi
Sga = 6(,3 - a) - 27TZ'5(E[3 - [Vga /d’y ﬂ’YE’Y+ ie
’ Ver Vo Vara
—|—/d’yd’y (B — By +i€)(Eq — Ey + ic) o }
- RAAH
D, -qn Z(YM(; Py, 1Gr41°°gN N=>1
a(q)®o =0
Uk BH:
a(q)a'(q) F a'(q)alg) = (¢' - q)
a(q')a(q) F a(g)a(q’) = 0 a'(¢')a'(q) F a¥(g)a’(¢’) = 0

- 51 —



B BT, RS RET

10.

11.

12.

13.

14.
15.

i A
N= / 47 ' (g)a(q)
A 2% &
[N,a'(q)] = a'(q) [N, a(q)] = a(q)
WUE I N0 XA (z — y) R %L

A+(m,x - y)

11l
o
\:_‘,w o
NI
=
|
3
&

FE A X 8] T AR 3K A 5 7K BR A

M
4m2\/—x2

AL(M,x) = Ki(M+/ —2?)

R F 25 XA (M, @)
A 4 ,
21,0 = [ ogsle =
i A
A(M, z) = —icos(p’z°)d(Z)
Wl T ORE 2 ) SO A R (010 = 176 + et BOHIR BRG], 17 h S A L 3ok

FO i H () B 05 0 D5 S A

[H(x),H(2)] =0 o —a' F2E
JSAE, I AT BLSE IR [Q, H(x)] = 0, W 252 ke = n*.
WA

oa) = [ i asle i) + el )

RUENE8 K AE AL 45 5, TIF

X bR g, 1T IS B AR YR S B R AR

WL T2 T A i bs 3 11 W s e
. §H . . - oH
@ 1) =ilto 6@ V) = g (@) =ilHow(@E 0] = — 52



B BT, RTSRRT

16.

17.

18.

19.

20.

Ik A
—ut(5,0)Bu(F.0") = v (7.0)50(F, ') = bror
X IE I
Ho = Re [ 7 5 [0/ ()37 ¥ + M)u(o)] :
B 1]
f(m AN -»/_21706
U (p,O')U(p,O’ ) = (p,U)U(p,U ) - ﬁ oo
TAUE B DE I X 2 R &R
[ (@6, w7, 0)} = 16387 - )
[ @0, 00(7.D)} = {m (@, 6), m(7, )} = 0
WUE I & 7B T H e &3 35 7 1
D@0 = ilHo 0@ 0] = St @) = il w0 =~

CRIEFT(@()s Bahsbe)s D)) Bleyy s () Bip(a) ", 7 ) 25 R
AR 125 P
¥

CRIESP@)D (@), D@)Nst(@)s D@y (@) D) s (@) @)y, | (@) TR
AT A P

RSB ()0 (@) By (x)s D)y (a)s Bla)yiysts (@) B () [y, v o (o) 15 f i 3
YA YT 1A e M.

Wb
Zu” 5)JY) = JThu’ (0,0)

Zv” J_(J j“ Y(0,0)

(jk) 0= (J)% = (T)'o=0 (Tn)j = —i€ijn
() +i1ID Vg = (T £0JD2) 1 =600 i/ GF )G £ 0 + 1)
_(Jl(g))cr’o = (J(j)’?))o/a =005/

T
0
w(0,0) = v#(0,0) = (2M)~1/2 8
1
NE
" (0. — (M)~ 1211
ut(0,1) (0,-1) 7 |: ;
0
1/2 0
. (2M)~ 1
(0, —1) = —vH(0, 1) | L
0

- 53 —



B BT, RS RET

25. ikiEH
LoV
() = Y et (o)’ (o) = ¢ = 5
26. RUEM
7 v — M vt — [qHV 99"
[vf(x),v" (y)]- = [v"(z),v"T(y)]- =g +jWJMMm—w

27. XA R, BT L S R R AR R AR
28. 1N A7 o AN G R (1 2% 3 20 Sl E W

(B, 0)en(p,0") = door

29. WX HH

v N A7) vt [V oro”

[0 (2), 0" (y)]- = " (2),v" (W)l = [¢" + 5z ]AM, 2 —y)
_ dﬁ —ip-x ipx

Aa) = [ gle e e

7(z) = —U(z) + Vo (x)

UE I 2 5k &

[v'(Z,t), ™ (§,t)]- = i6Y6(Z — 7))
[Ul(f7t)’vj(g7t)] :[Wl(z,t),wj(y,t)] =0

30. BUEWI R T IE T B b K R 10 B W3 5 R

LV . . OH,
'U(x,t) = Z[HO7'U(£L',t)] = 57?(fot)

0H,
507, 1)

-

(Z,t) = i[Ho, 7 (T, 1)] =

31, BRI T 34 AR i 7 (10 W 5 R 1) S SOl I T 18 A2 4 1) 242 1ot

Hy=Y" / dp o (7,0)a(p, 0) + o (5, 0)a” (5, o) /7P + M2

32. BUEW] T 34 0 2% H 3y 0 s 8 R 1) 5 SCAE s IR 1] ~F 8 2 #1281t

HY = Z/dﬁ o (5, 0)a(B, )/ + M

— 54 —






